= A
N = 0 &8 AFH Y & A AN
HE XZ 45 LUl SRS - SH2ZASI
ez SN 2sFuDY
HNESIITASH JlEtx M
Nazsisd & X (e &)
=24k -3 .H(3H) - HEAY - BHES 0] AFoH Iy H HnE2
22H=2 101,656,316 103,981,928 A2,325,612
2 7,176,806 7,379,872 A 203,066
=2 2,130,000 2,130,000 0
7l 8,710,223 8,710,223 0
s 1,200,000 800,000 400,000
[= 10,942,171 11,255,244 A313,073
Al 68,152,116 70,361,589 A2,209,473
cs 45,000 45,000 0
i 3,300,000 3,300,000 0
2355 M 34,836,245 35,638,229 A 801,984
=2 3,532,000 4,032,000 A500,000
= 500,000 500,000 0
J| 1,941,989 1,941,989 0
[ 4,345,373 4,385,303 A39,930
Al 23,596,883 23,858,937 A262,054
cE 20,000 20,000 0
i 900,000 900, 000 0
HERSTASAH JIBtEA 18,655,058 19,242,948 A 587,890
=2 2,832,000 3,332,000 A500,000
= 500,000 500,000 0
J| 1,941,989 1,941,989 0
[ 3,530,983 3,828,773 A297,790
Al 8,930,086 8,720, 186 209,900
cE 20,000 20,000 0
i 900,000 900,000 0
NoE2ssd o A 7,827,170 7.820,960 6,210
=2 332,000 332,000 0
J| 1,941,989 1,941,989 0
[ 415,883 409,673 6,210
Al 5,137,298 5,137,298 0
HEHMS20 d20F 53,210 47,000 6,210
[ 6,210 0 6,210
Al 47,000 47,000 0
307 g12+0l & 53,210 47,000 6,210
[~ 6,210 0 6,210
Al 47,000 47,000 0
02 DIZTBAAIY B X 53,210 47,000 6,210
OFFTHEZN M2UA(MALSEAR) 53,210 47,000 6,210
[ 6,210 0 6,210
Al 47,000 47,000 0
2ANE2H 22 7,532,888 8,126,988 A594,100
2 2,500,000 3,000,000 A500,000
=2 500,000 500,000 0
[ 1,490,100 1,794,100 304,000
Al 2,122,788 1,912,888 209,900
900,000 900,000 0
23AE A 188,800 222,000 33,200
402 DIZF K201 & 66,800 100,000 33,200




A2 2puHs= it
MM MESIITASH IR
ool 2aAdey el celEe)
AR .24 BB (SH) - MR 0l &k o J1 & o Hlms2

01 QIR 2 A (HHE) 66,800 100,000 33,200
OANBZSAIE Hu 66,800 100,000 233,200
HEIISD 2UAADIE2 A 886,200 1,447,100 A560,900
= 400,000 900,000 500,000
= 243,100 547,100 304,000
Al 243,100 0 243,100
402 RIZEXH= 01 & 886,200 1,447,100 560,900
= 400,000 900,000 500,000
< 243,100 547,100 304,000
Al 243,100 0 243,100
02 QAR EALS T (0| HIHE) 886,200 1,447,100 A560,900
OFZF JISH 2HAADIIEZ A 886,200 1,447,100 560,900
= 400,000 900,000 500,000
= 243,100 547,100 304,000
Al 243,100 0 243,100
e sS4 2,239,591 2,157,730 81,861
= 634,390 376,530 257,860
Al 1,605,201 1,781,200 175,999
S ALK 2,125,591 2,043,730 81,861
< 634,390 376,530 257,860
Al 1,491,201 1,667,200 A175,999
2 2a=H 0 9,000 9,000
307 @I12t0| & 0 9,000 £9,000
02 RIZHF M AL E X 0 9,000 9,000
02 2= 0 9,000 ~9,000
HEZ 02 ME28S 0 5,000 A5,000
307 BI2t0| & 0 5,000 A5,000
04 DIZHHAIAI & = 0 5,000 A5,000
oH®EE olgd A 0 5,000 ~5,000
DAY AAIS S 0 3,000 A3,000
307 @120l & 0 3,000 A3,000
02 RIZH B MAS B X 0 3,000 A3,000
O DN AASY 0 3,000 3,000
Mo B Us HAEY 0 5,000 A5,000
307 gI2t0l & 0 5,000 A5,000
02 RIZHAMALY E X 0 5,000 A5,000
oMY - 8 Us 0 5,000 25,000
HAZER2s =M Nzl (=2 44,601 66,000 21,399
307 @120l & 44,601 66,000 21,399
02 RIZFE M AL E & 44,601 66,000 21,399
OMAZERSH=EH M 44,601 66,000 21,399




o2 HE= FN o 2aEHY
3tz 84
Z St ALK& (&)
SN B EHA(EH) - HNRAMY - BLS 0l &k o4 p/E-E" Hl DS 2
=& 235243l 0 12,000 A 12,000
307 gl2tol & 0 12,000 A 12,000
02 It M AHE L 0 12,000 A 12,000
OLLE=ZE 23243 0 12,000 A 12,000
S 344 JoE Al 0 4,600 A 4,600
307 glz2tol & 0 4,600 A 4,600
04 QIZFHALALH 2 = 0 4,600 24,600
Ods A4 IHHZB BAUHSE 0 4,600 A 4,600
= ¢Z 23HA 0 20,000 220,000
307 21201 A 0 20,000 220,000
04 QIZFHALAIH B = 0 20,000 220,000
Odz= AZ Z3HA 0 20,000 A20,000
Xl OF= HI 0 80,000 80,000
201 Let24d] 0 80,000 280,000
03 A2 0 80,000 A80,000
OHMOoF=EH 0 80,000 80,000
teHoiE Es=H 0 6,000 26,000
307 gl2tol & 0 6,000 A 6,000
02 PIZHEHAHE L 0 6,000 A 6,000
OJteHHE 23=H 0 6,000 A 6,000
stz 243 AFHXE 275,090 22,230 252,860
=) 275,090 22,230 252,860
307 glz2+0ol & 275,090 22,230 252,860
=) 275,090 22,230 252,860
02 It M AMHEE 275,090 22,230 252,860
OME s 2efelZ DI=SH (AL EAE) 12,000 0 12,000
< 12,000 0 12,000
OHFHI0IS HIANLSHE (ALY FHAMS
) 7,170 0 7,170
< 7,170 0 7,170
OSEZIIRZHQAAERS B 5L 2A
E(NALHAE) 6,970 0 6,970
< 6,970 0 6,970
02020 ¥==20! 50t SR (0l &L H AL
g) 10,000 0 10,000
< 10,000 0 10,000
OOIEZ LS HIISH(MALEHA
) 6,000 0 6,000
< 6,000 0 6,000
©2020 & & Oelol SASH(MAEEEAE) 4,700 0 4,700
=) 4,700 0 4,700
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AR 23BBHSE SN 25ED)
M 2oz 24
& SAAXE (Sl & &)
A .24 - B BAGEA) - NPAY - BES 0l &k o4 p/E-E" Hl DS 2
Al 4,000 4,000 0
02 It M AMHEE 9,000 4,000 5,000
Oz 8 2 SAS(HLALHAE) 9,000 4,000 5,000
< 5,000 0 5,000
Al 4,000 4,000 0
FA4ad HAEE 0 5,000 A5,000
307 21201 A 0 5,000 A5,000
02 QIAFAANFEX 0 5,000 25,000
OFAY HAEE 0 5,000 A5,000
Fad QAEC & FEY HIIS3H 0 5,000 A5,000
307 gl2tol & 0 5,000 25,000
02 It S AIHEE L 0 5,000 A5,000
O&FAHE AAE Y FEH FII3H 0 5,000 A5,000
otFaad JIgtxy 12,666,395 13,049,395 A 383,000
= 700,000 700,000 0
=) 180,000 180,000 0
Al 11,786,395 12,169,395 A 383,000
ety SR 12,666,395 13,049,395 A 383,000
= 700,000 700,000 0
=) 180,000 180,000 0
Al 11,786,395 12,169,395 383,000
dF==HILsH IH= 2,510,000 2,880,000 A 370,000
< 180,000 180,000 0
Al 2,330,000 2,700,000 A 370,000
307 gl2tol & 2,510,000 2,880,000 370,000
& 180,000 180,000 0
Al 2,330,000 2,700,000 370,000
02 It M AHE X 2,510,000 2,880,000 A 370,000
OXF==HMASM Ml 2,510,000 2,880,000 A 370,000
< 180,000 180,000 0
Al 2,330,000 2,700,000 A 370,000
dFEZZMENN 29 117,000 130,000 A 13,000
307 21201 A 117,000 130,000 A 13,000
02 IZtEAAMHEE 117,000 130,000 A 13,000
Oz HENN 299 117,000 130,000 A 13,000
MRS (238 492,410 405, 365 87,045
SEXNE (23 ) 492,410 405,365 87,045
ITHEXZIEE (S M) 492,410 405,365 87,045
802 BHEt = JIEF 492,410 405,365 87,045
01 I DEBXStHE= 444 431 366,135 78,296
OSg =30l AL (2019) 76,763 0 76,763
OXNAGst SEAAAL 2EXEALE (2019) 1,533 0 1,533
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> A
A & 0l & AF 2 E A A
20208 = =& 4 3 et SEIHET ~ 22 ZH=E=
A= 2o FHE= A 22
M 2ot2F Al JlEt 2=
Gel: 2y E XY (EH9l:®e)
A .24 - B BAGEA) - NPAY - BES 0l &k o4 p/E-E" HlnE2

22 A Tt 7,703,428 7,526,494 176,934
= 326,134 89,200 236,934
s 250,000 250,000 0
J| 896,000 896,000 0
< 2,124,800 2,124,800 0
Al 4,106,494 4,166,494 A 60,000
ST Al DI 2F 7,614,742 7,437,808 176,934
= 326,134 89,200 236,934
s 250,000 250,000 0
J| 896,000 896,000 0
< 2,124,800 2,124,800 0
Al 4,017,808 4,077,808 A60,000
st HE N 4,358,134 4,181,200 176,934
= 326,134 89,200 236,934
s 250,000 250,000 0
J| 896,000 896,000 0
< 659,000 659,000 0
Al 2,227,000 2,287,000 260,000
A -3y w4 50,000 80,000 30,000
201 Let24d] 30,000 40,000 210,000
03 A2 10,000 20,000 210,000
OdAl -39 ®X 28 ¥ BEN 10,000 20,000 A 10,000
301 LEMZ 20,000 40,000 A20,000
12JEEd = 0 20,000 A20,000
OHAl - g2t izl QIMEIE XI& 0 20,000 220,000
20203 SHYYMAEZ= NEEZZ)H 2 0 60,000 A 60,000
= 0 30,000 A 30,000
Al 0 30,000 A 30,000
307 glz2+ol & 0 60,000 A 60,000
= 0 30,000 A 30,000
Al 0 30,000 A 30,000
02 HAFHAANGFEE 0 60,000 A 60,000
02020 HHMAEZ= WSKEZZNH 2H 0 60,000 A 60,000
= 0 30,000 230,000
Al 0 30,000 230,000
22X LS - =SEHA HEXA 326,134 59,200 266,934
= 326,134 59,200 266,934
101 @124l 321,534 57,600 263,934
= 321,534 57,600 263,934
04 JIZHHMZ22XNSE+ 321,534 57,600 263,934
oYy - 2@ Al 321,534 57,600 263,934
= 321,534 57,600 263,934
201 ¢et24] 4,600 1,600 3,000
= 4,600 1,600 3,000
01 At 2t 2l 4,600 1,600 3,000
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> A
A & 0l & AF 2 E A A
20208 = =& 4 3 e EI2EHES ~ SH2EHE=
A= 2o FHE= PN 2Z2AEZANFAIH
M 2EIHNEA I 2=
CHel: 2 HE A SEAY (&)
A .24 - B BAGEA) - NPAY - BES 0l &k o4 0% o Hl D&
HEHEZAIFAE 5,071,439 5,309,802 A238,363
J| 1,535,300 1,535,300 0
< 811,140 817,140 A 6,000
Al , 724,999 2,957,362 A 232,363
,917,882 5,116,882 199,000
J| ,535,300 1,535,300 0
< 811,140 817,140 A 6,000
Al ,571,442 2,764,442 A 193,000
2Z2NHE A SHAS 4,917,882 5,116,882 A 199,000
J| 1,535,300 1,535,300 0
< 811,140 817,140 A 6,000
Al 2,571,442 2,764,442 A 193,000
dF2 2435 0AHE 188,000 150,000 38,000
201 L Et2E | 188,000 150,000 38,000
02 2324l 38,000 0 38,000
OTP0 =2 Al HASIH 2 38,000 0 38,000
S 2ZBMUMIX AMEIE X= 10,000 40,000 A 30,000
301 EEH = 10,000 40,000 230,000
12IJEEd=s 10,000 40,000 230,000
O=US 2Z2HRX CHEE X3 10,000 40,000 230,000
Zdg HgasEs 29 2245 10,000 30,000 A20,000
301 LetEH S 0 20,000 A20,000
12JEEd= 0 20,000 220,000
oAz S QAMEE X& 0 20,000 220,000
EBHEA L 439,600 606,600 A 167,000
J| 135,300 135,300 0
= 52,140 52,140 0
Al 252,160 419,160 A 167,000
301 LeBH S 404,600 571,600 A 167,000
J| 135,300 135,300 0
=) 52,140 52,140 0
Al 217,160 384,160 A 167,000
09 HALAHIXI &3 404,600 571,600 A 167,000
O3t 2 404,600 571,600 A 167,000
J| 135,300 135,300 0
& 52,140 52,140 0
Al 217,160 384,160 A 167,000
d=F= 8 & ot 0 20,000 220,000
< 0 6,000 A 6,000
Al 0 14,000 A 14,000
301 LA F 0 20,000 220,000
< 0 6,000 A 6,000
Al 0 14,000 214,000




A= 2o FHE= PN 2Z2AEZANFAIH
HH: BFNABECA JIY RS
SR ZANEBZA SEAMY (Sl & &)
A .24 - B BAGEA) - NPAY - BES 0l &k o4 p/E-E" HlnE2
12JEEd= 0 20,000 A20,000
O&= 8 & &I 0 20,000 220,000
< 0 6,000 A 6,000
Al 0 14,000 214,000
HEHEA =SEHA HA 1,770,000 1,770,000 0
J| 750,000 750,000 0
= 750,000 750,000 0
Al 270,000 270,000 0
401 Al HIZ 201 8] 1,060,000 1,060,000 0
J| 750,000 520,000 230,000
=) 290,000 520,000 A 230,000
Al 20,000 20,000 0
01 A& HI 1,060,000 1,060,000 0
OZAIZ& QtHUHAIE JHH 1,060,000 1,060,000 0
J| 750,000 520,000 230,000
=) 290,000 520,000 230,000
Al 20,000 20,000 0
402 RI2HX=01 M 460,000 460,000 0
J| 0 230,000 230,000
< 460,000 230,000 230,000
02 U2 THE2ALEZ(0IETHR) 460,000 460,000 0
O=2=x¢ 2283 x4 460,000 460,000 0
J| 0 230,000 A 230,000
< 460,000 230,000 230,000
=228 & 0AHE =& 147,000 186,500 A 39,500
ZHMRE & ==40HAHE = 147,000 186,500 239,500
QIE=H WEXE 56,500 96,000 A 39,500
301 LEXZ 56,500 96,000 A 39,500
06 212tol=2l 04 Hl 26,500 66,000 A 39,500
OXOH, SSEA S S HMEA I MA(2
E2Y) 26,500 66,000 A 39,500
HRES(2ZAHNEAFAIY) 137 0 137
SBENES(ZEAEAFIH) 137 0 137
SEHEXZZUE(2ZHEBZANFEL) 137 0 137
802 Btet= DI Et 137 0 137
01 = DEXS3HE= 137 0 137
OXNAHMES 2ot 223 AHH(2018) 137 0 137




O]l & AF & & Ml A

H

o2 HE= PN ES2ERLH
=M EESH
S5 25 2 28 EERED
CRN I S(EH) - HRAY - BYS 0l &k o4 03 o HlnE2
St F AT 19,869,835 19,703,799 166,036
= 3,318,672 3,258,672 60,000
< 2,674,401 2,901,744 N 227,343
Al 11,476,762 11,143,383 333,379
T 2,400,000 2,400,000 0
2o 2EE=4 6,531,277 6,541,707 A 10,430
= 2,472,672 2,472,672 0
< 1,621,824 1,621,824 0
Al 2,436,781 2,447,211 210,430
N B L EE 2,218,070 2,228,500 A 10,430
= 464,881 464,881 0
< 613,116 613,116 0
Al 1,140,073 1,150,503 210,430
EIARMBE BSIH 79,300 89,730 210,430
307 21201 A 79,300 89,730 210,430
02 B AAHE X 79,300 89,730 A 10,430
odgdd 0 5,000 25,000
0Jz29 0 2,430 A 2,430
OFZS 01dtad =S A 0 3,000 A3,000
AMBSEA =4 3,891,798 4,081,488 A 189,690
= 80,000 80,000 0
< 512,577 739,920 N 227,343
Al 3,299,221 3,261,568 37,653
o 27 ¥ |4 3,000,075 3,189,765 A 189,690
= 80,000 80,000 0
< 512,577 739,920 A 227,343
Al 2,407,498 2,369,845 37,653
SEIM d=AE e X3 AMY 91,350 0 91,350
< 34,257 0 34,257
Al 57,093 0 57,093
402 212t X201 & 91,350 0 91,350
< 34,257 0 34,257
Al 57,093 0 57,093
02 (I 2AILE X (01 ETHR) 91,350 0 91,350
OSREEaM H==AlE HH XA 91,350 0 91,350
=) 34,257 0 34,257
Al 57,093 0 57,093
EXE FEEM dsEs N 911,960 943,000 A 31,040
=) 295,520 307,120 A 11,600
Al 616,440 635,880 A 19,440
301 LEXZ 911,960 943,000 A 31,040
< 295,520 307,120 A 11,600
Al 616,440 635,880 A 19,440
12IJEEd=S 911,960 943,000 A 31,040
EXNE SIS dsgs N 911,960 943,000 A 31,040




A= 2speis= SN HESRMD
I ANSSTAl X4
©el: 2RM =22 Y S4 (el @ e)
A .24 - B BAGEA) - NPAY - BES 0l &k o4 p/E-T Hl DS 2
= 235,520 307, 120 217,600
Al 616,440 635,830 A 19,440
S0y ASHBE THAY(HEAY) 250,000 500,000 250,000
= 0 250,000 £250,000
Al 250,000 250,000 0
401 A& H L 20l 250,000 500,000 250,000
= 0 250,000 £250,000
Al 250,000 250,000 0
01 Al Hl 250,000 500,000 250,000
Sis018Y AASHTE TLMY 250,000 500,000 250,000
< 0 250,000 250,000
Al 250,000 250,000 0
sestie JlY 1S 9,164,500 9,028,500 136,000
= 766,000 706,000 60,000
< 540,000 540,000 0
Al 5,458,500 5,382,500 76,000
i 2,400,000 2,400,000 0
SHes MASH 7,229,500 7,143,500 86,000
= 756,000 696,000 60,000
Al 4,673,500 4,647,500 26,000
i 1,800,000 1,800,000 0
BXNNE 2SN 9,500 13,500 A 4,000
307 212+0| H 9,500 13,500 A 4,000
02 It F A B E 9,500 13,500 £ 4,000
OFHMFEA HES 2SI (3l 0 2,000 £2,000
OFSY ASEBX HA L SAME 0 2,000 ~2,000
2020 ROlJt= B=25 08 30,000 0 30,000
= 30,000 0 30,000
307 212+0| & 30,000 0 30,000
= 30,000 0 30,000
02 It HAAS R E 30,000 0 30,000
©2020 RO0It= BE23 DS 30,000 0 30,000
= 30,000 0 30,000
2020 NS B X 49 BH N AY 60,000 0 60,000
= 30,000 0 30,000
Al 30,000 0 30,000
306 0132 60,000 0 60,000
= 30,000 0 30,000
Al 30,000 0 30,000
NEEE] 60,000 0 60,000
©2020 XIS B X +2 45 X 60,000 0 60,000
= 30,000 0 30,000
Al 30,000 0 30,000
HESA &3 1,935,000 1,885,000 50,000
= 10,000 10,000 0
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> A
N & 0l & At & Z Al
£ 435 AoIH SHAZHSI - SHAZHS
EREYEE SN HSAYD
SxE 243
STE 854 X EERED
SA-EB-BA(BH) - NRAY - HES 0l & o p/E-F HIDE2
R 30,915,079 32,279,814 A1,364,735
2 1,380,000 1,380,000 0
p] 4,336,934 4,336,934 0
s 1,200,000 800,000 400,000
= 986,457 1,026,257 £39,800
Al 22,986,688 24,711,623 A 1,724,935
cs 25,000 25,000 0
s g4 6,726,105 8, 147,356 A1,421,251
J| 776,934 776,934 0
= 595,977 765,777 169,800
Al 5,353,194 6,604,645 A 1,251,451
Hgxs 84 N9 4,053,183 4,532,234 ~479,051
gl 55,000 55,000 0
< 127,240 172,240 A 45,000
Al 3,870,943 4,304,994 £434,051
NE2s3INR 29 1,506,276 1,696,276 190,000
301 YPRHI 1,506,276 1,696,276 £190,000
00sHe - 2SSRS2AE 1,506,276 1,696,276 190,000
OZN(HEFSSYIIL 9E) 1,064,032 1,177,032 A113,000
OENS(NB2SYIIR) 3,000 60,000 A57,000
CEREEEEA= 42,967 52,967 A10,000
CELEEEEEA-E 33,019 38,019 A5,000
ODBFHERYI 16,244 18,244 A2,000
I EE R 11,278 14,278 £3,000
NESESAIRLL BaL 29 L FH X 278,640 278,640 0
201 ot | 243,486 240,640 2,846
01 AL 22l 204,040 176,040 28,000
CEEPS 40,640 35,640 5,000
CERE 136,140 116,640 19,500
©2AA Y] 27,260 23,760 3,500
02 23S 39,446 64,600 £25,154
0222 2 MAl 7,500 22,800 ~15,300
L P 7,100 7,100 210,000
R 400 5,700 A5,300
O A& FHI R HI 31,946 41,800 ~9,854
@i022E 2 17,000 19,000 A2,000
@ - sty 14,946 22,800 ~7,854
405 TH&HH St 35, 154 38,000 £2,846
01 AU 2B St 35, 154 38,000 £2,846
ONF2ESAIL(MOIZE) MOI2 7Y 35, 154 38,000 ~2,846
ZANZHAHSE 2 X2 229,202 254,353 £25,151
307 BI2+0I & 229,202 254,353 £25,151




M ox
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SHBBIS
SXE 243
SXE 84 N

SN - BA(5H) 0l &t o 0% o Hl D&
03 It HEZ2L 229,202 254,353 A 25,151
O A Z 01 A 229,202 254,353 A 25,151
ExMY |4 XA 14,000 19,000 A5,000
201 Let24E] 14,000 19,000 A5,000
03 &AL2 I 5,000 10,000 A5,000
OAZXEE =& 5,000 10,000 A5,000
HEEH S 2SUHa N2 40,000 200,000 A 160,000
307 glztol & 40,000 200,000 A 160,000
02 (It HAMAEE 40,000 200,000 A 160,000
oM=s=H & 230 40,000 200,000 A 160,000
S BHEE AIEEA 0 90,000 90,000
< 0 45,000 A 45,000
Al 0 45,000 A 45,000
307 gl2tol & 0 90,000 90,000
< 0 45,000 A 45,000
Al 0 45,000 A 45,000
02 HAHFHYANEEX 0 90,000 90,000
OYE HAZ Al 0 90,000 290,000
= 0 45,000 A 45,000
Al 0 45,000 A 45,000
==HUa | g0 2 6,100 15,000 A 8,900
207 ROl 6,100 15,000 A 8,900
01 289 6,100 15,000 28,900
Od==HUza KX 6,100 15,000 A 8,900
M=z 29 XA 416,150 1,415,850 A999,700
< 65,000 268,300 A 203,300
Al 351,150 1,147,550 AT796,400
HFAIEH HEHF & 0 3,600 A 3,600
307 glztol & 0 3,600 A 3,600
04 QIZFHALAIH B = 0 3,600 A 3,600
OX182 M FAlIEH 0 3,600 A 3,600
FAEH MEHMS A3 SIER= 0 7,000 A7,000
307 21201 A 0 7,000 A7,000
04 DIZFHALALSE E X 0 7,000 A7,000

OHM198 & F=AlEH

tHal 0 7,000 A7,000
HA=AIZH MEHs 2 0 5,000 A5,000
307 glztol & 0 5,000 A5,000
04 QIZFHALAIH B = 0 5,000 A5,000
OHM6=2l HFAHE 0 5,000 A5,000




A HSAS Y

o= 2
g MsdE 2435
2 M 29 X (Sl & &)
A .24 - B BAGEA) - NPAY - BES 0l &k o4 p/E-E" Hl D&
dFAIEH d2ds dd2=E=23 5,000 A5,000
307 21201 & 5,000 A5,000
04 2I2tSHAALH 2 & 5,000 A5,000
ON62 MFAZH H&H| JA2==Z 0 5,000 25,000
AFAIEH S &= 320U 6,300 A 6,300
307 glz2tol & 6,300 A 6,300
04 QIZFHALALH 2 = 6,300 26,300
ORM163 M=AIZH MEHS A= 2ct0l
I=an e 6,300 26,300
dFAIEH dEHs =sI13U= 5,000 A5,000
307 gl2tol & 5,000 A5,000
04 QIZHEHALALE B = 5,000 A5,000
ONBal MFAZH MEHE =sI2UHE 5,000 25,000
HF=AZH MEH S &4 AIRANIEEWS 9,000 A 9,000
307 glz2+0ol & 9,000 A 9,000
04 QIZFHALAIH E = 9,000 A 9,000
OM72 HFAHH HEHMS =&AI18H0132
EEE 9,000 A 9,000
SF=ATH dEHS AFAUE 8,550 A 8,550
307 21201 & 8,550 A 8,550
04 QIZHEHALALE 2 = 8,550 A 8,550
145 HFAIEH HEHS AFHAUE 8,550 28,550
AFAEH dEHs 8= S A0EUHE 9,500 A 9,500
307 glz2tol & 9,500 A 9,500
04 QIZFHALAIH B = 9,500 A 9,500
OM163 H=AIZH MEHS d=3 S5 A
AOIE U2 9,500 A 9,500
S=AZH MEM=S BHECIEWS 9,500 A 9,500
307 glz2+ol & 9,500 A 9,500
04 QIZFHALAIH E = 9,500 A 9,500
ORM302 M=AIZH XS BHELEHS 9,500 29,500
AFAEH HEHE &= Q28 s2U3 9,400 29,400
307 glz2+ol & 9,400 A 9,400
04 QIZFHALAIH E = 9,400 29,400
OHM17al 8F=AIZH HEM=s d=0s 2 EU
gs2Ua 9,400 A9,400
H=AZH MEM=S ROE0IHE 5,000 A5,000
307 glz2tol & 5,000 A5,000




M ox
40 5 4

SR =BG (EH) - A B HlnE2
04 DIZFSHALAIE 2 &= 5,000 A5,000
OM72 HFAZH MSH= SOHEOIHE 5,000 25,000
H=AZH MEXMSE LIH3ZU3 5,000 A5,000
307 glz2tol & 5,000 A5,000
04 QIZFHALAIH B = 5,000 A5,000
OM78l MF=AIZH MEHM= LIHI=ZUe 5,000 A5,000
HFAZH M| == 6,000 A 6,000
307 giz2tol & 6,000 A 6,000
04 QIZFHALAIH B & 6,000 26,000
ORM13a M=AIEU MEHME 2= 6,000 26,000
SF=AETH dEH=E 82 E12U= 9,500 A9,500
307 gl2tol & 9,500 A 9,500
04 DIZFSHALAIH 2 &= 9,500 A 9,500
OHM223 H=AlZHl MEH 9,500 A9,500
HF=AZH dEH=S d2 = = 10,000 A 10,000
307 g1zl & 10,000 A 10,000
04 QIZFHALAIH 2 = 10,000 A 10,000
OM173 M= AIEU MEMS
thal 10,000 A 10,000
SF=AZH dEHS det=SE0 = 4,500 A 4,500
307 glz2tol & 4,500 A 4,500
04 DIZFSHALAIH 2 &= 4,500 A 4,500
OHM1638 HF=AIEU MEM=S
JIt &l 4,500 A 4,500
SF=ATH M= 8= SHAU= 5,000 A5,000
307 21201 A 5,000 25,000
04 DIZHHALALSE E X 5,000 25,000
OHM21al MFAIZH MEMS =2 SHAWS 5,000 A5,000
SF=ATH MEHM=S IaA=sZUe 5,000 A5,000
307 glz2tol & 5,000 A5,000
04 DIZFSHALAIE 2 &= 5,000 A5,000
OHM4z HFAZH M= 5,000 25,000
HFAIEHE S2IIte MEHE 3H 10,000 A 10,000
307 glz2+ol & 10,000 A 10,000
04 QIZFHALAIH B = 10,000 A 10,000
ORMI252] M =AIEHI 22lJt
3 10,000 A 10,000
HFAIEE ItU 3l 5,000 25,000




ﬂl%&% 243t
H=sta 28 X (Sl & &)
CRA - FB - BA(BH) - MEMY - BYS 0l &k o4 0% o Hl D&
307 glz2tol & 0 5,000 A5,000
04 DI2HHALALSE E X 0 5,000 A5,000
OHM33 M==AIZH 2ItU3 0 5,000 A5,000
H=AZEHE d= Ol=HILIANS 0 6,000 26,000
307 eIzl & 0 6,000 26,000
04 QIZFHALAIH E = 0 6,000 A 6,000
OHM158] 8=AIEH &= Ol=HLANHS 0 6,000 A 6,000
HFATH MEH| HAAZIF 0 4,500 A 4,500
307 glztol & 0 4,500 A 4,500
04 QIZFHALAIH B = 0 4,500 A 4,500
OM72 HF=AZH HEHF HAALXYS 0 4,500 A 4,500
HESgW NSEE dFA S22 0 2,000 A2,000
307 21201 A 0 2,000 A 2,000
02 AHFHAEEX 0 2,000 A 2,000
OUESZHH NS A=Al A3 0 2,000 A2,000
HESW NEY dMet=ss Jd2iig &d 0 3,000 A 3,000
307 glz2tol & 0 3,000 A 3,000
02 HAHFHYANEEX 0 3,000 A 3,000
oOsSdH NEZ Met=Sx dgis &d 0 3,000 A 3,000
H=AIZHE A 0 4,500 A 4,500
307 & 4,500 24,500
04 AMNSEE 4,500 A 4,500
=8 4,500 A 4,500
H=AEE FR03 6,000 A 6,000
307 6,000 A 6,000
04 QIZFHALAIH B = 0 6,000 A 6,000
OHM9sl MFAIZEH HEIAUE 0 6,000 A 6,000
SF=AZH S AU 0 5,000 A5,000
307 gl2tol & 0 5,000 A5,000
04 DIZHHALALSE E X 0 5,000 A5,000
O YFH2H =2 L M17al dFAEH =
a3l 0 5,000 A5,000
HFAIZHE &= O0tHtS Ha 0 20,000 220,000
307 glztol & 0 20,000 220,000
04 DIZHHALALSE E X 0 20,000 220,000
OXM 153 MFAIEH &= OtOtHISTH =l 0 20,000 A20,000
HdFANEH =228 5302 §710s & H2AEH 0 12,500 A 12,500
2l




CRA - FB - BA(BH) - MEMY - BYS 0l &k o4 0% o Hl D&
307 glz2tol & 0 12,500 A 12,500
04 DI2HHALALSE E X 0 12,500 A 12,500

OHM27al E=AEH H22E S5 H§FUSI
2 HE2MEAUS 0 12,500 A 12,500

dF=AEH REOHSE 0 6,000 A 6,000
307 21201 A 0 6,000 A 6,000
04 DIZHHALALSE E X 0 6,000 A 6,000

ORM243 M=AIZH RE=US 0 6,000 A 6,000

H=AEI A=A S 0 5,000 A5,000
307 glz2tol & 0 5,000 A5,000
04 DI2HHALAISE E X 0 5,000 A5,000

OHM23sl 8F=AEI| EHAZHZ 0 5,000 A5,000

H=AZH 2 S EH BHILIATLE 0 7,500 A7,500
307 glztol & 0 7,500 AT,500
04 QIZFHALAIH E = 0 7,500 A7,500

OHMZ27al HF=AIEH & M173 S EbEIUA
Chal 0 7,500 A7,500

H=AZEH BHECIE S 0 5,000 A5,000
307 glz2tol & 0 5,000 A5,000
04 QIZFHALAIH E = 0 5,000 A5,000

OHM108 E=AIZH HHECIE 3 0 5,000 A5,000

H=AZEH SYHE 203 0 10,000 210,000
307 glztol & 0 10,000 A 10,000
04 QIZFHALAIH B = 0 10,000 A 10,000

OXN24zsl MFAIZH SEUHE iU = 0 10,000 A 10,000

HFAEH =Z3 0 6,000 A 6,000
307 glztol & 0 6,000 A 6,000
04 QIZFHALAIR B = 0 6,000 A 6,000

OHN163 HMFAIZE =2 U3 0 6,000 A 6,000

HF=AEFI S 0 5,000 A5,000
307 gl2+tol & 0 5,000 A5,000
04 DI2HHALALSE E X 0 5,000 A5,000

OHM33 MFAIEI S&US 0 5,000 25,000

SFAIEE HoHe! S 0 5,000 A5,000
307 gl & 0 5,000 5,000
04 QIZFHALAIH 2 = 0 5,000 A5,000

OM72 HFAZHH HOHQ dHIUH 0 5,000 25,000

s HddEd=sUs sd 0 20,000 220,000
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SN P SAGEH) - HRAY - BYS 0l &F 24 p/E-E" HlnE2
307 glz2tol & 0 20,000 A 20,000
02 PIZHEHAHEE 0 20,000 A 20,000
oO&=E Hydaxsts &H 0 20,000 220,000
el AZEMO0 22 0 2,700 A2,700
307 eIzl & 0 2,700 A2,700
04 QIZFHALAIH E = 0 2,700 A2,700
omgel AX=(M0l 2¢ 0 2,700 22,700
FANRY A2dE S EHI 23 0 2,700 A2,700
307 21201 A 0 2,700 A2,700
04 QIZFHALAIH B = 0 2,700 22,700
OFEFAIRS A2E2 ' ETEI 2= 0 2,700 A2,700
c|E0k2E X& 15,000 30,000 A 15,000
307 21201 A 15,000 30,000 A 15,000
02 IZtE S AIHE L 15,000 30,000 A 15,000
Od=gite| S0k & 0 15,000 A 15,000
20ct2E==ZHs &d 0 2,000 A 2,000
307 glz2tol & 0 2,000 A 2,000
04 DI2HHALALSE E X 0 2,000 A 2,000
oMz Net2E2ZUs &d 0 2,000 A 2,000
ZHE=70s A 0 2,500 A 2,500
307 glz2tol & 0 2,500 A2,500

BN 0 2,500 A2,500
CH d 0 2,500 22,500

0 35,650 A 35,650

= 0 10,000 A 10,000

Al 0 25,650 N 25,650

307 glztol & 0 35,650 A 35,650
= 0 10,000 A 10,000

Al 0 25,650 N 25,650

02 UAHBHAEEX 0 35,650 A 35,650

OHM223| Ol St M=0I0tHtS& =202 0 35,650 A 35,650

& 0 10,000 /10,000

Al 0 25,650 A 25,650

=R2II=0I2tEWH S 20,000 38,000 A 18,000
= 10,000 18,000 28,000

Al 10,000 20,000 210,000

307 21201 & 20,000 38,000 A 18,000
< 10,000 18,000 28,000

Al 10,000 20,000 210,000

04 QIZFHALAIH 2 = 20,000 38,000 A 18,000




AR 2BBHS= &
Y NSNS 243
ool MSHs 29 U CHel R )
AR 24 - Z= . (3H) - A Ofl Ak o8 HDZ2
OM193] M= RLII=0I2EHS 20,000 38,000 18,000
< 10,000 18,000 8,000
Al 10,000 20,000 210,000
FH20IS MBS S 0 50,000 50,000
= 0 15,000 A15,000
Al 0 35,000 235,000
307 9I12+01 ™ 0 50,000 250,000
< 0 15,000 215,000
Al 0 35,000 235,000
04 QI2LSHAFALRY 2 & 0 50,000 250,000
OM123 MEs=0g8 N 0 50,000 250,000
S 0 15,000 215,000
Al 0 35,000 235,000
Fa20g d2dlE S50 0 78,000 78,000
< 0 13,000 13,000
Al 0 65,000 265,000
307 Qi2tol & 0 78,000 278,000
< 0 13,000 13,000
Al 0 65,000 65,000
04 QI2bSH AR ALY 2 & 0 78,000 78,000
OXFESOIE MR 0 78,000 78,000
< 0 13,000 213,000
Al 0 65,000 65,000
FHS02 2SS 0 60,000 260,000
S 0 5,000 A5,000
Al 0 55,000 255,000
307 9I2+0 & 0 60,000 260,000
S 0 5,000 A5,000
Al 0 55,000 255,000
04 GBIV AFALRY 2 & 0 60,000 60,000
OM53 HEs=20t2 & 0 60,000 260,000
= 0 5,000 5,000
Al 0 55,000 55,000
FH20lS AEX2240UES 0 35,000 35,000
< 0 5,000 5,000
Al 0 30,000 230,000
307 9I12+01 ™ 0 35,000 35,000
< 0 5,000 5,000
Al 0 30,000 230,000
04 QI2bSH AP ALY 2 & 0 35,000 35,000
OM3sl M=st=0t2 2 CH
3 0 35,000 235,000
< 0 5,000 ~5,000
Al 0 30,000 30,000
FH202 MIHISUS 0 40,000 240,000
< 0 20,000 220,000

- 22 -




AR 2HBBHSD SN HSMD
Ha: MSNE 2o
o9 MSHs 29 N CERED
2N Y- BAGIH) - ARAY - BES 0l &t o p/E-T HDE2
A 0 20,000 220,000
307 QI2+0| 0 40,000 £40,000
< 0 20,000 20,000
Al 0 20,000 £20,000
04 PIZHSHAAL B 0 40,000 40,000
ON43 HFEHS0IZ 2SO 0 40,000 £40,000
= 0 20,000 20,000
Al 0 20,000 20,000
NEUSDY MRASHS 0 30,000 230,000
= 0 10,000 A10,000
Al 0 20,000 20,000
307 QI2+0| ® 0 30,000 230,000
= 0 10,000 210,000
Al 0 20,000 20,000
04 QIZHBAAIR B T 0 30,000 230,000
ONSSNY H22A=AHS 0 30,000 230,000
= 0 10,000 210,000
Al 0 20,000 20,000
HE HOISU MBS 2SS0 0 15,000 A15,000
= 0 5,000 A5,000
Al 0 10,000 £10,000
307 QI2+0| ™ 0 15,000 A15,000
= 0 5,000 5,000
Al 0 10,000 210,000
04 QIZHAAR 2 0 15,000 A15,000
ON3E HF OIS MEHS HIOSES
2013 0 15,000 A15,000
< 0 5,000 £5,000
Al 0 10,000 210,000
SFH HRAHALSAHE 40,000 35,000 5,000
= 15,000 10,000 5,000
Al 25,000 25,000 0
307 QI2+0| ™ 40,000 35,000 5,000
= 15,000 10,000 5,000
Al 25,000 25,000 0
04 QIZHHAAIR 2 T 40,000 35,000 5,000
OM143] SIZN M2 AR AIS 2203l (0l &
UHAE) 40,000 35,000 5,000
= 15,000 10,000 5,000
Al 25,000 25,000 0
£} = ZDSsD 203 0 70,300 A70,300
= 0 20,300 20,300
Al 0 50,000 A50,000
307 QI2+0| ™ 0 70,300 A70,300
= 0 20,300 220,300
Al 0 50,000 A50,000
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X e (B9 ®R)
A .24 - B BAGEA) - NPAY - BES 0l &k o4 p/E-T Hl DS 2
04 QI AAIRE T 0 70,300 70,300
OX62E =H = ZNSsD HEH3 0 70,300 A70,300
= 0 20,300 20,300
Al 0 50,000 A50,000
HAMSH FIHAATXE L SHH MBS 0 35,000 35,000
HAAZ X3
< 0 25,000 £25,000
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